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1. What was common in the status of women before the Revolutions in
Russia and France ?

(A)
(B)
(C)
(D)

Equal political status denied
Economically inferior
Socially rejected

Ignorant and uneducated

2. How did Jean Dupuis, the man seated, change the history of Vietnam ?

Employed indentured labour for the plantations

Persuaded the French to establish a base in Vietnam
Taught local people to fight and bought guns

Ruled over locals and did land reforms

3. What aspect of the life of the forest people did not get affected by the
forest laws ?

(A)
(B)
(C)
(D)

Hunting activities
Shifting cultivation
Grazing grounds

Organisations for rebellions
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1. w9 s W §, #f 3 ved st @ Rafa ¥ wwee 4 2
(A) TEE W T oo A8 R T
(B) aff® &9 ¥ €A
(C) wmfse &9 ¥ forpd
(D) o9 3R st

9. o # 3 =, v 5=y, A fogaam F 3R & fFg W wea for ?

(A) OFFY FEE & T8 Aagl & AT § SH W
(B) widfgd & fawemm # o o3 Wiew & faw dar fRn
(C) wry |t @ wer faEm SR dgkh Tl
(D) g @nit W fEe s qft gEm e

3. & H WY A A % SEd % 9 9y W aH & A IHE 781 el ?
(A) foer e wfdfaft
(B) AR FW
(C) =mE jH
(D) fase & fag dred
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What did the following statement mean ?

“Plant more wheat, wheat will win the war” President Wilson.

(A)  Price of wheat in Europe declined, so farmers stopped growing
wheat

(B)  The new soils of USA were fertile and higher production was
possible

(C)  Russian supplies were cut off during First World War, so USA
had to feed Europe

(D) Grain production in Europe could not meet their needs

Who made cricket a marketable game ?
(A)  Kerry Packer (B) Frank Worrell
(C) Don Bradman (D) Wisden

What was common between the women novelists of the 19" and 20!
centuries of Europe and India ?

(A)  Followed the norms laid by men in the society
(B) Were independent and assertive
(C)  Wrote novels which were not read for pleasure

(D)  Were trying to do creative writing for pleasure

What encouraged people to migrate to Bombay in the late nineteenth
century ?

(A)  Junction of two major railway systems
(B)  Open spaces to settle in the new city
(C)  Better opportunity to fulfil needs

(D) Good roads from rural areas

Which one of the following was not a part of Mahatma Gandhi’s
experiment with clothing ?

(A) A loin cloth and chaddar (B) Lungi and Kurta

(C) Western suit (D) Saffron clothes

Who among the following was an undemocratic leader ?

(A)  Augusto Pinochet (B) Salvador Allende

(C) Lech Walesa (D) Michelle Bachelet,
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(C) savasdsl & QU HA & fau dga Haw
(D) AT &R ¥ IS WeH

8. frafefea & ¥ Ft-T1, meram Wl & 9enS-NAN & 9 T8t 91 ?

(A) T SR (B) it 3R Fei

(C)- dfy=rdt g2 (D) FHEfEr 9
9, frafafed § ¥ &9 SwelisdiEs Jar a1 ?

(A)  3ifredr o (B) HealeR 3Aele

(C) <% @ (D) fidre a9t
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10.

11.

12.

13.

14.

15.

The making of the Constitution of India was not influenced by
(A) French Revolution

(B)  British Parliamentary democracy

(C)  American Bill of Rights

(D)  Constitution of South Africa

Who among the following elect Members of the Rajya Sabha ?
(A) Members of Lok Sabha

(B)  Voters in Parliamentary Constituency

(C) Members of Legislative Assemblies

(D) Members of Legislative Councils

Which of the following institutions is approached by citizens to protect
their Fundamental Rights ?

(A)  Judiciary (B) Executive
(C) Legislature (D) Media

Which one of the following forms of power sharing is called vertical
division of power ?

(A)  When power is shared among different organs of the Government
(B)  When power is shared among governments at different levels
(C) When power is shared among different social groups

(D)  When power is shared among political parties, pressure groups
and movements

Which type of society is called a homogeneous society ?
(A) That has ethnic differences

(B)  That has migratory population

(C)  That has similar kinds of people
(D) That has many social divisions

Identify the situation in which the Constitution allows the state to
intervene in the matters of religion.

(A)  To ensure equality within religious communities
(B) To appease the followers of a particular community
(C) To reap political favour

(D)  For religion based mobilisation
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16. Since most of the elected members belong to a political party, they go by
(A)  public opinion
(B) - their personal motives
(C)  their financial gains

(D)  the direction of the party leadership

17. Which statement about Self Help Groups (SHGs) is incorrect ?
(A)  SHGs don’t help to overcome the problem of collateral
(B)  The rate of interest charged is reasonable
(C)  There is group responsibility for repayment

(D) Members save according to their ability

18. Why can the buyers bargain with the seller to sell a product below the
MRP ?

(A)  MRP makes the product Very expensive

(B)  MRP includes indirect taxes

(C)  MRP includes the profit margin of the seller
(D)  MRP is printed on all products

19. Which one of the following statements about globalisation is incorrect ?
(A)  Goods become expensive for local consumers
(B)  Local producers face competition from foreign goods
(C)  Buyers have a greater variety to choose from
(D)  Foreign products are readily available to local consumers
20. Why are women, female infants and elderly people regarded as poorest of
the poor ?
(A) They are physically weak
(B)  They are economically dependent
(C)  They are socially exploited

(D)  They are denied equal access to resources
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21. Which of the following is a market activity ?
(A)  Kitchen gardening
(B)  Mother cooking for family
(C) Buying a bus ticket
(D) Production for self-consumption

22. Which of the following is an example of fixed capital asset ?
(A)  Raw materials (B) Generator
(C)  Electricity (D) Skilled labour

23. Which one of the following statements supports that Reenu is working in
the unorganized sector ?
(A)  Reenu doesn’t have job security
(B)  Reenu is a regular employee
(C)  Reenu gets regular salary
(D) Reenu works for a registered firm

24. Why are fertilizer plants mostly located in the Ganga Plain and Eastern

India ?

(A)  Easy supply of raw material from pipelines of gas from petroleum
producing areas

(B)  There is development of roads, godowns and nearness to good
farming areas

(C)  There is uninterrupted power supply for setting up fertilizer
plants

(D) There is greater demand for fertilizers in these regions of the
country

25. Which one of the following statements best Justifies the naming of the
Indian Ocean ?
(A) It belongs to India only
(B) It was named by an Indian king
(C) It is the largest ocean near India

(D) India holds an eminent position in the Indian Ocean

26. The entire drainage basin comprises of undulating country, a series of
ridges and valleys, with low hill ranges. Large flat areas are scarce except
in the delta. This description would be most likely for which river basin ?

(A)  Godavari (B) Narmada
(C) Ganga (D) Mahanadi
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21.

22.

23.

25.

26.
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27. A group of travellers wanting to go from Kolkata to Hyderabad had to
choose a new route as there is a cyclone warning in the Bay of Bengal.
Which is the shortest road route, the travel agency would take ? Study
the map and select the shortest route.

Had

(A) Kolkata to Agra on the Golden Quadrilateral and Agra to
Hyderabad on the North—-South Corridor

(B) Kolkata to Delhi on the Golden Quadrilateral and Delhi to
Hyderabad on the North—South Corridor

(C) Kolkata to Bangalore on the Golden Quadrilateral and then to
Hyderabad on the North—South Corridor

(D)  Kolkata to Kanpur by the Golden Quadrilateral and to Jhansi by
the East-West Corridor and from Jhansi to Hyderabad by the
North—-South Corridor
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Note : Study the map of India given below and answer Questions No. 28 to 32.

P
= o
P
L
L .

28. The soil type of the demarcated area A is
(A)  Alluvial soil
(B) Laterite soil .
(C) Black soil

(D)  Arid soil
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29,

30.

=7

31.

32,

33.

34.

The two Mmountain ranges marked B and ¢ are respectively
(A) Vindhya ang Satpura (B) Satpura and Vindhya
(C)  Aravallj and Vindhya (D) Satpura and Maikalg

(A) Marmagag (B) Mumbaj

(C) Vadodara (D) Surat

Identify the city marked E, known for its software technology park,
(A)  Gwalior (B) Gandhinagar

(C)  Indore (D) Nagpur

(A)  Region F (B) Regions F and H

(C) Region H (D) Regions G and H

Which pair of the following statements aboyt forest laws wag not similar
in India ang Java ?

1. Imposition of rent on lang being cultivated in the forests,

1. Scientific forestry wag introduced.

i, Small wages ir;stead of rent éxemption,

iv. Villagers’ access to forests wag restricted,

(A) i and jj ‘ (B) ii and ijj

(C)  iandij (D) iand jy

i,  Dust storms eroded the soils ang made it infertile,
1v, Large machines substituted the hand tillersg.

(A)  iand i1 (B) iand 1ii
C) i and iii (D) ii and iv
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30.

31.

32.

33.

34.
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35.

36.

37.

Given below are certain statements that made possible entertainment
during leisure time for the Commoners in the 18" and 19* centuries.

1. Libraries, art galleries and museums were in plenty.
ii. Music halls became popular.

ili.  Churches remained involved in religious matters.

iv. Printers produced beautiful books.

Which two statements explain BEST possible reasons for entertainment
and leisure ?

(A) 1andii (B) ii and iii
(C) 1iandiv (D) iiandiv

What was the common change in the lives of pastoralists of Africa and
India due to the new forest laws introduced by the British ?

1. Richer pastoralists became settled farmers and traders, the
poorer became labourers.

il. New routes were discovered and the number of animals reared
increased.

ili.  Farmers welcomed the nomads as they would find free fertiliser
when the animals grazed.

iv. Pastoralists got confined to small areas and found lesser and
lesser fodder.

(A) 1 andii (B) 1ii and iii

(C) iii and iv (D) ivandi

Which two of the following statements are true ?

1] Democracy expanded throughout the 20th Century.

il. Democracy did not spread evenly throughout the world.
iii.  Myanmar has a democratic government.

iv. All the member states of the United Nations are democracies.
(A) 1andiv (B) 1ii and iii

(C) 1andi (D) iii and iv
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38. What is the correct sequence of different stages during an election ?

i Campaigning

il. Counting

ii.  Voting

iv. Nomination

(A)  1iv, 1, iil and ii (B) 1i,1,1iii and iv
(C) i, 1, iii and iv (D) 1, iv, ii and iii

39. Identify the features which make India a federal state,

1. Sources of revenue for each level of government are clearly
specified.

il. Jurisdiction of different levels of government is specified.

iii.  Does not accommodate regional diversities.

iv. The Union Government is empowered to make laws on all the
subjects.

(A) i, il and iii (B) iandii

(C) ii and iii (D) ii, iii and iv

40. Which two of the following challenges fall under the category of
‘challenges of deepening democracy’ ?

1. Keeping military away from controlling government.

i, Strengthening those institutions that help people’s participation.
lii.  Ensuring greater power to local governments.

iv. Bringing down the influence of rich and powerful people.

(A) iandii (B) iii and iv

(C) 1 and iii (D) ii and iii

41. Which pair of statements about development is correct ?

1. Per capita income is also called average income per person, per
year.
ii. Rich Middle East countries are called developed countries.

lii.  Kerala’s low Infant Mortality Rate (IMR) is due to high literacy
and good health facilities.

1v. Human Resource Development gives priority to increasing
standard of living.

(A) 1iandii (B) 1iand iii

(C) 1iii and iv (D) 1ii and iii
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. f g % S fafe SO & WE EH SA-E R 2

1 T

11 HATOTAT

111 Hdald

iv ATHRA

(A)  iv, i, iii 3 i (B) i, i, iii 3 iv
©) i, ii, iii 3 iv (D) i, iv, ii 3 iii

39. T @ o UST aA arelt fagarsl # @ |
| L v T # TER ¥ T % aa Wy &9 9 fEild €
| B ffy w E SR % SER-aE WE BT ¥ Aty 8
i, efurs fafawarel § gres w@fed T S
v, T wER 9wl e W EE A a SR 2

(A) i, ii 3R i (B) i3 ii

S (C) il 3 i (D) i, iii 3 iv

0. FrefefEd § § SR @ i Cded @ wEg F@ A gt ® @ H
e § 2

1. mﬁ@m%mﬁm%wr@m
B o geel @ oEd A S At a arierd § we w1 €
i, T SR S e ifHsR-gud S
v, o s wfeel o % W9 & EH &
(A) iR i (B) iii 3 iv
(C) iR iii (D) ii 3 iii
41. Toamg TE= SgA & SiA-9 el wé 8 ?
L wiy =fE o &1 N oAfF aive sited 3E off e S @ |
i, gergd & duw IR @ fawted 9 o @er S @ |
i Wﬁmmaﬁmwmaaﬂtaﬁmwwﬁ%

HOT & |
v, Wee guee e, Sed W ) 3 38M & wafiehr 31 @ |
(A) i3 (B) i 3R iii
(C) iii 3 iv (D) ii 3 iii
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42. Which pair of statements correctly indicates the functioning of
Multinational Companies ?

i They involve small local producers to expand production.
ii. They set up production units only in their own country.
iii.  They buy:out local companies to expand production.

iv.  They set up joint production units only with Government bodies.

(A) 1andii
(B) i and iii
(C) 1andiv

(D) 1 and iii

43. Krishna Kumar manages a non-farm activity of poultry farming. He is
running a business with a cash fund of ¥ 20,000, a shed, and he buys
grains, hay and medicines for the hens for ¥ 2,000 per month. He even
pays salary of ¥ 3,000 per month to two workers on the farm. What is
Krishna Kumar’s working capital ?

(A) Cash fund of ¥ 20,000 and the shed

(B)  Cost of raw materials ¥ 2,000 and the shed

(C)  Cash fund of ¥ 20,000 and cost of raw materials ¥ 2,000
(D)  Cash of ¥ 2,000 and the salary of Z 3,000 p.m.

44. Different products have different quality certification standards. Select
the two incorrect pairs.

1. FPO : Juice
il. ISI : Pressure cooker
1i.  Agmark : Television

iv. CE : Shoes

(A) 1andii
(B) ii and iii
(C) 1 and iv

(D) iii and iv
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‘ 42, o & IA-T YT, TP FHCET B FEOIC H GG q@w«A@ 8 2

. 3qEd WeM ¥ fau 3 9R-9R WY S § W FE §

i ¥aw o 3w H @ s gE o 3

iii. SARA TeR % fAu 3 Wy SuRE @ it o g

iv. 3 Yool o TRl ¥ 9 @ W SqRd % IRdl it R @
;
|

(A) iR ii
_ (B) i 3N iii
| (C) i3 iv
| (D) i 3 iii

43. FO1 AR YOEE % I-HH GO & FEY ST 8 | 98 T 20,000 H T
Tfer, GrEeE, a9 9 9 T 2,000 ¥ 3, W9 SR CEsd @lg & A AR
I @ & | U B W W S g o sfhdl # 9fa 9@ T 3,000 a9
R | IO PR W EEYE O feed @ 2

| (A)  %20,000 3 T T o FEH

| (B) = Wil H HAA T 2,000 TAT HrEH

! (C) 20,000 F Fhe T 74 F= A W F T 2,000

|

(D) T 2,000 7&E 3R qfd @@ T 3,000 H IH

44, fofi 3 & faftm 9 TueRn EO-TF AR ¥ | Q@ e Siel & g |
i. Thael. W ()
i, IETHIAE : R FH
iti, T : JefasE

iv. @3 S
| A) iR i

(B) i 3 iii
| (C) i3 iv

(D) iii 3R iv
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45. Which sequence of different stages given below is correct for the

formation of the Himalayas ?

1.
1i.
111.
1v.
(A)
(B)

(C)
(D)

46. Which two of the following characteristics pertain to the Tropical
Deciduous Forests ?

i.
ii.
iii.
1v.
(A)
(C)

47. Secondary sector gradually became self-reliant and the most important in

The collision of the Gondwana plate and Angara plate raised the
sea-bed into longitudinal ridges and valleys.

During this, the Great Himalayas and the Tibetan Himalayas
were formed.

The collision was very effective and powerful.

The Tethys bed rose to a great extent to cause the final retreat of
the sea.

i, ii, iii and iv
ii, 1, ill and iv
ii, iv, 11 and i

1, iil, iv and ii

Rainfall between 70 ¢cms and 200 cms.

Sal and Teak are common species of trees.

Trees have long roots.

Trees reach great heights upto 60 meters or even above.
i and iv (B) ii and iii

i and i1 (D) iiandiv

total production and employment in India. Which industry does this
generalisation BEST describe ?

(A)
(B)
(C)
(D)

Textile Industry
Iron and Steel Industry
Sugar Industry

Cement Industry
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45, %nma%ﬁnhaﬁﬁﬁnéﬁ&am@mﬁmaﬁqm%?

i
ii.

iii.
iv.

(A)
(B)
(C)

(D)

Tteamr W @ ST Qe ¥ e 3R gE-a, e Fea iR wiedl %

w7 H FW 33 T4 |

79 <R e femre il feadt femmer &1 fmior g3 |
THHR Sgd FHEEe S v 4t |

g T F FH AL AN FR 33 T SR wE 68 g T |

i, ii, iii 3 iv
i, i, iii 3 iv
ii, iv, iii 3 i
i, iii, iv 3 ii

46. FrefafEs § @ a9 o fuivad w7 et wind a6 8 et € 2

i
il.
iii.
iv.

(A)

(€

70@@3#1:200%%@3&?

TSl # ¢ oal @ § _
g% 60 et a1 3 off I I A &
i 3T iv (B) ii 3R iii
i 3N i (D) ii W iv

47. 9RG ¥ fidiew fmw oR-dR amer-fR @ T ek FA@ Iced 9 SR H Wgd
Tl @ T | 39 WG S G99 7% IS SH-§1 A 8 2

(A)
(B)
(&)
(D)

I I
der 3R TE 3@
i ZEm
Hitie sem
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48. Study the illustration given below :

Source : http:/adayinlife.timesofindia.com

ScigifooN

& 2 Billion people belonging to 60 countries of
the world are dying for water. By the year 2050
the figure may go up to 7 billion.

"For the last three generations, our family was
very scientific in managing the water problem
but what can | do when there is no water left ?’’

Based on the above illustration, which two of the following inferences
are correct ?

ii.

ii.

Depleting water resource and limited solutions to conserve water.

Water of the world will soon finish, since we are unable to
conserve it.

Consumption of water is far more than the available water
resource. :

iv. Pollution in water is mainly due to industries and agriculture.
(A) 1 and iii
(B) i andii
(C) ii and iii
(D)  iii and iv
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48. = for v fom # apemEE FNQ )
@d : http:/adayinlife.timesofindia.com

woold || 26 2050 TP U7 wBaT TGaR 7 3RE 0 A T & |

FER P 60 H 2 RE AN I S ERARE |

i

e 1
O
4 1

"Wﬁﬁ%ﬁﬁ,muﬁaﬁmﬁraﬁmaﬂﬁmﬁﬁ
T5a de el & At 318 o & 7wt ¥ o @ e g 1

IR ¥ fo7 W amuifa, frafafga oqae § § 398 Q5 8 2

i
il

iii.

v, -

(A)

(B)

(C)

(D)

Yoo Sl A S S @ & i geee

HOR F 9 v www @ S, FifE g sueE s w5 4 e @
IuT el WHEE S qor § S w39 agd s 2

S ST e A SR U F FROT F 2

i 3 iii

i3l ii

i 3 i

iii 3 iv
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49. Assertion (A) : Deeply critical of these developments, novelists such as
Charles Dickens wrote about the terrible effects of
industrialisation on people’s lives and characters.

Reason (R) In the early 19* century, factories increasingly became
an intimate part of the English landscape. So, visible
were the imposing new mills, so magical seemed to be
the power of new technology, that contemporaries were
dazzled.

Based on the above pair of assertion and reason, which one of the
following options is correct ?

(A) A and R are correct and R explains A
(B) A and R are correct but R does not explain A
(C) A is true but R is false

(D) A is false but R is true

50. Study the excerpt given below carefully and answer the question that
follows.

“The movement here was against talukdars and landlords
who demanded from peasants exorbitantly high rents and a variety of
other cesses. Peasants had to do begar and work at landlords farms
without any payment. As tenants, they had no security of tenure,
being regularly evicted so that they could acquire no right over the

leased land.”

Which novel describes BEST such a life of the Indian peasants ?
(A) Anguriya Biniméy

(B) Rang Bhoomi

(C)  Titash Ekti Nadir Naam

(D)  Godan
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49, e () - T SAE #1 9 Fe S g Oed fed S YRR 4 el
| ¥ Sfaa it 9fm W el & gwvEl & ar # o |

FRI (F) : 19é’rmaﬁésmnﬁ,wﬁ%f&—aﬂiaﬁsﬁqu€a{ﬂfah
S T | U IHEIE FREM 3a4 Yo 9, T s & e g
sgs 41, & e sfh =iE e 9 |

FR fow Mo e o FR ¥ SR W amifa, frefdfad e § ¥ @b-
e 7

(A) 3 3R & wd & 3 &, 37 A ;S @

(B) o1 3iR & W& ¢ ofd &, & & Fren T F 8

(C) & & 8 AfF & e g

(D) 3 Teid @ AT F W 2

50. 9 feu MU IEIOr F GEEE ¥ eEEd ST iR 3§ A% fQU T ¥YH #1 IW
difste |

“0g RGO 39 dle@erl SR g ¥ fears @, S e @
agd s o SR FE OYER F H AT 4 | fEEEl 4R FE ged o
il sfidl & @l ¥ g FW ST USa o1 | UgeR fREEl & FY A I
wgerd @ e gen A A | 3R fef w7 ¥ g fen S oo, e o

T R G T YH W HE FE A T A |

G R & STad &1 U auid gad o7eer fhe U= H g3 ? ?

(A)  3ffer fafmr

(B) T 9y

(C) T g@t TN A9
(D) e
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51. Choose the right sequence which shows the progress of Nationalism.
i Kingdoms, duchies, cantons
ii. Revolutionaries
ili.  Spirit of conservatism
iv.  Liberal middle class brought national unity

Which one of the following sequences is correct ?
(A) i, iv, iii and ii (B) 1iv, 1, iii and ii

(C) 1ii, 1, 111 and iv (D) 1, 1ii, i1 and iv

52. Democracy is considered to be better than other forms of government.
Which of the following statements support this claim ?

i It is a more accountable form of government.

ii. It improves the quality of decision-making.

iii. It ensures rapid economic development of citizens.
iv. It enhances the dignity of citizens.

(A) i, iii and iv (B) 1, 1ii, iii and iv

(C) i, i1 and iv (D) 1i,iii and iv

53. Which of the following are essential principles of our electoral system ?

i Universal adult franchise

ii. Open political competition

11i. One vote, one value

iv. Independent candidates

(A) 1,1 and iv (B) i, iiand iii
(C) 1, 1il and iv (D) ii, iii and iv
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51. qPAR & S @ WA A W HA H AT |
1. Wﬁﬁ'ﬂﬁﬁfﬂ&{
ii. EAGEAE
ii. wfgarg & 9E-T
iv. 3CNER) meF an A P Tkl & e e
frefafad w0 4 o Se- @ g ?
(A) i, iv, iii 3 ii (B) iv, i, iii 3 ii
(C) i, i, iii ¥ iv (D) i, iii, ii 3R iv

52. Sy @ T ¥ o w6 Q@ e oS @ | fefafed § & S99 w9 5
T & 9w € 2

i YA # e e 9 8

i, T fofa o & e @ AR g

i, W AmRE % dw e few @ gifEd I 8
v, 9 AR @ R & aen |

(A) i, il 3 iv (B) 1, ii, iii 3 iv
(C) i,ii 3 iv (D) i, iii 3 iv

53. frfofiag § ¥ FA-8 g0 96 WoTeh & i fae € 2
i, O guE AR
i, gell Torifas sl

iii. UF W4, TH IA

iv. a3 3uiiean
(A) i, ii 3 iv (B) i, ii 3 iii
(C) i, iii 3 iv (D) i, iii 3 iv
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54. Which three of the following statements justify that modern democracies
cannot exist without political parties ?

1. No independent candidate will be able to make any promise to
the people about any major policy matter.

ii. It encourages factionalism and divisive forces.
i, Elected representatives will be accountable to their constituency.

iv. No one will be responsible for how the country will be run.

(A) iii, ivand 1 (B) iii, ii and 1v

(C) 1, ii and iii (D) i, iii andiv

55. Which facts about the Indian currency notes are correct ?

1. The notes bear the signature of the Governor of the Reserve Bank
of India.
ii. It is a promissory note guaranteed by the Central Government.

iii. 1t carries the national emblem.

iv. It carries the seal of Reserve Bank of India.
(A) iandii (B) ii and iii
() 1,11 and 1v (D) i, 1i,1ii and 1v

56. Which three statements from amongst the following help to distinguish
chronic hunger from the seasonal hunger ?

1. It is related to cycles of food growing and harvesting.

ii. It is a perpetual problem related to very low income.

iii. It is prevalent in rural areas and amongst urban casual
labourers.

iv. It occurs when people don’t get work throughout the year.

(A) i, ii and iii (B) ii, iii and iv

(C) i, iii and iv (D) i,iiandiv
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54. Fefefas § @ a-8 49 399 39 a B 9fE w9 § 5 syt el Torfos
et o for & uel Gl ?

1.

ii.
iii.
iv.
(A)
(C)

aﬁﬁ%ﬂﬁﬁimmmmw%ﬁwﬁﬁﬁ@ﬁém
T& & g

¢ A SR e i @ e w
fratfere wfaffy st Frafe & & wfq saeerd &M
I Y 9, 39 A @ of sweE A& e

iii, iv 3R i (B) i, ii N i
i, ii 3 it (D) i, iii 3R iv

55. WA TR (FE AR F MW F F9-F 7 T E ?

i
ii.
1il.
iv.
(A)
(C)

et W R fed 3% F e F R a8

7 ¥ TSR g Afagd a9 U A 8

W W TP Ydid a1 g 2

T W IRA % A 9% gE o @

i 3 i ‘ (mﬁﬁm

i, iii 3R iv (D) i, i, iii 3 iv

56, frefafad & ¥ F-8 @7 o9 s qERd & A e ¥ S W S
i weg & § 7

i.
ii.
iii.
1v.
(A)
(C)

7% FES ITSH AW FEA F T W TG @

7 agd &9 T ¥ T Faward wwen @

7 T &l SR vl s sfte # g S @

7 7@ B 8, 5@ i B R g wm T e @
i, il 3 iii (B) i, iii 3 iv
i, i 3R iv (D) 1, ii 3 iv
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97. Which of the following indicators help to improve quality of life in a
country ? -

3 Reduction in Life Expectancy.
i, Decline in Infant Mortality Rate.
ii.  Growth in Literacy Rate.

iv.  Rise in Per Capita Income.
(A) ii, iii and iv

(B) 1, 1ii and iv

(C) iandii

(D) i, 11, iii and iv

58. Given below is information about four stations of India :

i Mean temperature | Annual

Station | Latitude | . it (in °C) Rainfall

(in metres) T )

Maximum | Minimum | ‘™% ¢
(1) 29°N 219 31 19 - 670
(1i) 34°N 3506 12 1 85
(111) 26°18'N 224 34 20 36-6
) 13°4’'N 7 33 o4 128-6

With the help of the information given in the above table, identify the
group of four stations which respectively conforms to the given data ?

(A)  Jodhpur, Delhi, Chennai, Leh
(B)  Jodhpur, Leh, Chennai, Delhi
(C)  Delhi, Jodhpur, Leh, Chennai
(D)  Delhi, Leh, Jodhpur, Chennai

Social Science/A 34




T R SRR SR SRS S LR e

| 57. fedt 3 § e @ e guRd # frafafed ¥ SA-3 ERE Sews Ad § 2
i. Sed e H B

i, forg g A

iii, OERa @ H gfg

iv. ¥fa =fe 9@ § 9fg

(A) i, iii 3 iv
(B) i, ii 3 iv
(C) 19 i

(D) i, ii, iii 3 iv

58. 99 NG ¥ 9 @H F R ¥ e & W 2

; gt 3irga @ (°C ®) | e st
bl G 15 (e F). Rt 1)
HfereraH AT
(i) 929°N 9219 31 19 670
(i) 34°N 3506 12 1 85
i) | 26°18'N 994 34 20 36-6
(iv) 13°4'N 7 o1 T 1286

TR E goh § & T TEET F v ¥ 9K @ & 39 §E @ e, |
U SRSl ¥ HAIE A @ 8 |

(A) SR, food, @9, @8
(B) <ug, we, ==, foeed
(C) foweht, SR, o8, ==
(D) feoeft, J@, YR, ==
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59. Study carefully the given map of India showing different wheat zones.
Identify the group which represents the three largest wheat producing
zones in their descending order from amongst the following :

VI \}j '6 IV North-eastern plains zone

‘:F\u—]\ SIX WHEAT ZONES OF INDIA
\\

L e S gl g 8
5 u\""ﬂ(\” ?
o S il s
- -w-"m:’]() - “J’
.A,,.f:‘.\.. -4 j“.f‘__’ .....
(B ) ! »}

I Northern hills zone
II North-western plains zone
IIT Central zone

V Peninsular zone
VI Southern hills zone

(A) I, II and IV (B) II, III and IV
(C) 1II, Vand VI (D) ML, IVandV
60. Statement : There is a great need to shift more than 250 million
people from the land to the factories, from rural areas
to the urban areas to ensure that they escape from the
low productive agricultural area and from the clutches
of poverty.

Explanation : The lack of skills and the over dependence on
agriculture has created a scarcity of skilled people,
driven wages up and created an increasing gap
between people who are benefiting from economic
growth and the people who are left behind.

(A) Both the statement and the explanation are correct

(B) Statement is correct but explanation is not

(C) Both statement and explanation are not correct

(D) Statement is wrong, but explanation is correct
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59. WRA % U 0 Wi & SYEE eAE Hiee S R &

fafim 291 % gufar 2 |

frfafad § & 39 998 @ YT S Td g A H a9 wey fus g S
&t & frefud &t 2 |
c:“'"\_\_ﬁ WA & BT Mg &
1)
£
':"' kt
\Tmﬁv??{’\ﬁ
=il V,J\,J’ e '-: "_“(
‘Xm
0 gddr &
_ 11 S-ufyew g &9
., 111 &= &9
\f/ IV Io-qE Fer &
N |V S &
7 | VI <Rl gdde e
A) LURIV - (B) II, III 3R IV
(C) 1L,V 3R VI ' (D) IIL, IV 3RV
60. FIT : 250 ffera § e ol & fir § FREH T, 7T & ¥ TRl
&3 % TR mﬂwwémﬁmwaﬁ
?ﬁr@ﬁ'-’»ﬁt & dre ¥ wure giafeea e o1 W
T w1 w3 Ff ® afa ffr @ g | § w9 e 2,

qﬁ@%ﬂééaﬁ?ﬁaﬂﬁﬁﬁﬁm@%aﬁﬁﬂﬁ%

Mg E, I Fgd g e & g gam @ |

(A) g 3R W a1 HE 8

(B) & §el 2 fobeg woofioeor wdt = 2
(C) Hgd 3 Wi 3 W @ 7
(D) % T 8, fhq W w88
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Fai-uA WX fored & fore fadw

Instructions for writing on the Answer Sheet

1. Read the questions -carefully before
answering them. For each question there
are four options (A), (B), (C) and (D).
Only one of these is correct.

2. Choose the option which you think best
answers the question.

3. Then find the corresponding question
number on the Answer Sheet and fill in
the bubble of your choice.

4. Use Blue/Black ball point pen to fill the
answer sheet.

5. Apart from filling in the bubbles for
answers and roll number, do not write
anything else on the Answer Sheet.

6. Extra space is provided in the question

paper for rough work.

How to answer a Multiple - Choice
Question : The following example
illustrates the correct way of answering
multiple choice question.

Example :

Question : Which of the following rights
was denied to women during the liberal
movement of 1848 ?

(A) Forming political associations

(B) Holding political meetings

(C) Casting their vote in elections

(D) Applying for government jobs

Answer : The answer to this question is

option (C). You have to mark it on the
Answer Sheet as shown.

A B © @D

© O @O0

1. Y99 % I 4 § U8 3% gy 9 U8 |
Te% Y99 & fau =R faEwew (A), (B), (C)
IO @ T AT Fod
fereheq W&l & |

2. 3 fomes & gFw @ a0 s & fag
gag I99 GHIA @ |

3. TS A FEfwd YT G H 3
I-TT W U 3 39 I qHe & el
¥ gftw |

4, FW FTHR-F H 90 & fau Hiey/Fe ot
UEE U & YIIT & |

5. I & fau Ml & WA 99 VA A= F
Hfdfeh I0-99 W 9 7 faf@y |

6. W &4 & fau yy9-13 W fafs w@m fen
TR |

Sgfeehedd Wyl & T HE G ¢

99 & IW e @1 9d alew

frmfafad 3eRT ¥ W B @

3qleur ;

WA : 1848 & ICRANE Hided & A

Hfgenasil & fefafag ¥ 9 Si9-91 SR T8

fean o a1 2

(A) TSI 99 T

(B) USHIfa® 2% afed &

(C) T § waeH HET

(D) &R AERE % fou amee s

AT : 39 YA 1 I faeew (C) 7 | 39S
W fe@m U 0% ¥ TO-UT W 3ifhd &
21 '

A B (© @D

O O @O
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